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3. Discuss how a hotel holding an international conference can determine its
dependent resource needs using a master schedule analogous to a master production
schedule for a manufacturer. (9%)

4. Please briefly describe the assumptions that need to be met in order to let
economic order quantity (EOQ) to be optimal in reality. (9%)

5. Please explair. the following terms. (20%)
(a). takt time
(b). cause-effect-diagram
(¢). Drum-Buffer-Rope (DBR) system
(d). reverse logistics

(e). Six Sigma DMAIC procedure

6. Work measurement refers to a set of four techniques that are concerned with the
evaluation of a task in terms of the time that should be allowed for an average human
work to perform that task. Please describe and compare two of them. (12%)




